ErAF a3 FI00RRY 28 KEVEE

Ey Ex . - &%

EIHCET A D

BPEMZHEPRABAFAHE nEY N > B A .
A : s Ve |DeEms  Osewns
: - PR . MREERE [REHE
LR - BB A RS 4R & e g oy |2 | LD A6
L) e 4 . & |LUAHEHRE [(PEEHE
a‘ﬁi‘ 2. AE R 5 ;W‘}*f EEs o R HERLZ AL e | CERSEAE DZTEZEZ%:E;
P ﬁ@@,yéi B B E arnie . | %t {]%E%E
R BAERE R BB g% ﬁ*ﬁf’?fr«‘ » IEEEEs e [ IR e i
EHRBE BRSO B2 ESTE /\L%‘i D+E, NE——
g o [PHRES (e EH
[JEREER mE (F4HE)
LRERAIEE 2 nL B~ i § oo
g |ZHFIES S0 P L G A £ 2 2 Y R
o M A MK E > B AR TR D enfeiE i > BE A ERFORRE 2
TR Re s F v P h RS
4, ot KE TR E TR ARREHE  KEFTRVIFL IR EY o
yos 1. %ﬁ%& %@ ThAERARM RN TS (1) FE2ERRT MY 0 RS EN
pop | (D) REBFLEGHSL T E (3) AHRMAET BA L RER e (O AAREERHT
5 Ebdééﬁ&%ﬁm
yoss 2}@*%4&537\%%}3% IQI/?XAAJ\&\FI’*QL‘}'A\IE‘;:;;é
£ & JEME PN FHARFE R ~ FH THh o N HEr T uEPLIAH R K 2% EHE g LR
FiF 7 33 .
CE L EmEa (D) T AR (2) NEARR (3) HEER 1 2K & 20%
nE b e lies g (1) BAESE (2) B A S L 60%
g W RIS F L 20%
=L
s
[IECENTS: £ R B E N SN L PR
2. {IRB AL PR B AR AP 0 R o
s B FATR B L )N B E S N el ko
g | A BRRBE 0 R TR
T B Hm B AN A~ P 4
6. B3R B AN AN s TR e B L & o
THLEYEp e iSRG -
* 3%
FE | HASRA S REFERO BEES FER YV BRE VB SR E S RPN e e E L
el | FRERS?
T L%?ﬁ%ﬁi’%*ﬂa TP EAERY TERY EF NS
2.8 ZF anTg Ay y WP fp}laﬁ—mkﬁpqlzx A IR IR F] e




? 2P 2a PR3 R 1098 2R 28 - sk EARLE
&i’ (V4
, e . k F & R
e | p -]zl |3 | # 3L
Az Tk
2/20 4 3T 2/10 # 4 3%
14 15[ 16|17 |18 | 19 | 20
» — 21 29 @ % 25 2 27 u%*i_i[ Zg@ﬁﬁigﬁ %gﬁﬁ {gzﬁ%?ﬁﬂ 2;2212\47#%?]/??515 ety (=)
— S~ AEEHFERE '
I R N 2/28 4oL & A p
= Lo 1| 2| 3| 4|5 | 6 | CREEREI-diEE (K] 3/1 %;F»
(—) IMEHBEBERE
3/12 £ & p
) = 7 8 9 10 | 11 |12 | 13 | (=) ssL
w14 15|16 |17 | 18] 19 | 20 | (=) mppmmsse
B T s
7 |21 | 22| 23|24 |2 | 26| 27 % j s {f@}gﬁ@fﬁ
3/31-4/1 % - = W =8
= 28 | 29 | 30 | B1 1 9 3 gﬁi‘ﬁ?Z BHE [ EREE] 4/9-5 525 & FAP &%
2 (—) B D RE IR EE
LA S 6T 89 10 () R
b 4/13-16 % = %7 %
. A 1112 | 13 | 14 | 15 | 16 | 1T | (=) #YEEN
1 [ 18|19 |20 [ 21 | 22|23 |24 | () mrpine
EU= 4/28-29 % 2 = d3 ¥ gt (=)
e o[ | oo [ | PR =
MRS ERESUE 3—
4 _
o T T T R B B B o o
) T A R B 2 5/11-12 % = = 2328 (- = )# =
+- | 9 |10 13 | 1a | 15 | () TREEARECER M ~
3 - S YHTE
oz 6|17 | s |19 | 20 |21 | gp | () NEER
3 i 5/25-26 % = it 3 .
1yp | 23 24| 25|26 | 27|28 |29 (=) BAERSAE ’
6/1 24248
-7 |30 3} 1 2 3| 4 | 5 | () 4uaEslE
<20 6 [ T |8 (9 10|11 {12] (H) k&
2 [ 6/14 4= &
\ = |13 | 14 [ 15 | 16 | 17 | 18 [ 19 | (75) 5¢4y ~ SRR 6/18 £ i f# %4 (- =)
La 20| 21| 22| 23| 24| 25|26 | (+)EnEs=
6/30-7/2 % = % 2 =R (- =)
+4 |27 | 28 | 29 3 T/3-5 X B p 4R
B 4|5 6|78 |90




